SJEH MM, ZE|QIZIA A8 =0 E8LV

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

1
1
I
02

o2

, 2 2

ks

HZE &E:
EE7 U AEY
ol M= = 23
2 XMEE = U
ol M= &

<k ofn

o>
Ll

~ Ir
0% bk

—=3

my &
2 My

I o

&
v lo

M
H >
i ofo
n
r
o

iore
o =
I
>

S
lo

0

il
I3
2
d
02
it
rC
o o

qu -

(=]
=
=
ol
RA

S por 10 X

om Jiu |H rx

Cig

SEf WMot EEfZle ZRIEX| 2 JEfZ MSEuch

7|= o] E:
FEE MA:

ot x| /8
SEREY R

A £%:0.3m 70|E, PUR, 7H<E
2r #Hel:-25°C ~ +70°C
4&9l: CE, c-UL-u, EAC

=g

AEf MME LHEE S8l EefZlo] Z™HEH x4 L12 A™ELCH
HefZle 2ol AR 2 HHEICIQ ZEIH AtO|o] 8 FHE S5
THEELICH

AQQE ZOIEQ OIM MHE2 EZ 23 X2 Al O|F0o{&ILICE XFA
B Mite T8 MY Mol MEE|of Q&L

QUMM 2]

K0662

K1276

K1737

okH

£H 4E:
1) LED EA|7|
BN = ZM
BK =S
BU = 4

www.kipp.com - info@kipp.com 1/2



( ]
A AEIOIAIA AElI =] I£5F V3 Saliz AXIS
AFEH MIA{, 2H|OIYA A =0 28, VE, 2 SfiT X186
=M
@ L P \ L2
L1
— 1S
T =g sw
__'—/)
B1
B2 B
(f\
N < g A\ {} 1)
= -
2 - === iR mEy
D % )
= 2%
FEHS EfQl A A1 A2 A3 B B1 B2 B5 D G G1 HHI L L1 L2 P SW EzZZ3lxz M=AEIS
2 EY'ES
K1736.06121 V 14 40 18 12 27 455 55 2 55 M5X0,5 M8x1 30 25 27 14,5 39 300 7 K0662 M6x35
K1736.08121 V 2145 15 19 32 49 6,5 2 6,8 M5X0,5 M8x1 30 25 27 14,5 39 300 7 K0662 M8x45

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/2



